
Lec 23

# Change of var
Ex (recall u-sub)

- higher die W-sub

du = 27de ders du

So fox, ys da If cout, 'D closed if bounded, DaR

T: S & D
in Ca, u) coord

want T being infective ie.
also want T to be.

TCu., V.) = T (U2,VI) $7 (u., vi) = (uz, Us)aT: D=S

_fex.ys da=
Ex. change to polar coord

Tr.o)= (reose,

transformation T(K, V) = (x Cu,v), y (u, u))
Tie Be, 37, 34. 34 all exist and cont.

for 060 <27,

aLx,y? dudea(n,v)

, which is a'

For SS

jud

ward

then

Jacobian

rsint)

12 2
r>0

=d(u,v)



# Given SER in (u. v), funding TCS)
Ex. S=E (r,8) 175063, 15152}

Check boundary!
I: 4(,0) 10-5, 16r 623

TCI) = ECrcoso, rsino)|o= ¾,I I N Lomit3

TI: (7,y) = (x+y, X-y)

dC*/12 =
a(K, v)

6 partial der' all constant
* When T (or T) is linear, we cam just check vertices

T'(0, 2) = (2, -2) T'(1,0) = (1.1)T' (0, 1) = 41, -1)
4=1 T'" (2,0) = (2,2)

166623

Ex. D= using

Solve: И=х+уV = x-y


